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QUESTION 1

A requirement is sent to save the data when a user clicks on Create Draft. The record should move to the next state
after a user clicks Create Draft. It is verified that the validation workflow is processing, but the record remains in the
Draft state. What action should be taken? 

A. Check that the synchronous workflow is set to permanent data. 

B. Check that the event has been set correctly on the asynchronous workflow. 

C. Check that the synchronous workflow is properly attached to the sub action. 

D. Check that the Save Permanent Data task has been added to the synchronous workflow. 

Correct Answer: D 

 

QUESTION 2

The Attention section is intended to be hidden by default for a record in null state but it is able to be seen at runtime.
What should be done to hide the Attention section? 

A. Configure the Visible setting for this tab in Form Builder 

B. Configure the Visible setting for this section in Form Builder 

C. Configure the Visible setting for this state transition in Form Builder 

D. Configure the Visible setting for this state transition in Data Modeler 

Correct Answer: B 

 

QUESTION 3

Which type of state transition completion will trigger a save process on the record at runtime? 

A. A transition that links back to itself. 

B. A transition that links to another state. 

C. Any transition will trigger a save process. 

D. Any transition that contains an action called triSave or triSaveAndClose. 

Correct Answer: C 

 

QUESTION 4

A new classification has been defined and the developer is ready to create the new classification\\'s local root. From the
Hierarchy pane the focus is placed on the Classification root node and the option New is selected. The new
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classification does not show up as an option in the Hierarchy pane drop-down as a valid child that can be added to the
root. 

What could be wrong? 

A. The new classification\\'s form has not been added to the Includes/Forms tab of the new classification\\'s form. 

B. The new classification\\'s form has not been added to the Includes/Forms tab of the root classification form. 

C. The new classification\\'s form has not been added to the Includes/Forms tab of the classification business object
(BO). 

D. The new classification\\'s form has not been added to the Includes/Forms tab of the new classifications BO. 

Correct Answer: B 

 

QUESTION 5

When applying the Sort Section action on a form\\'s tab, which statement is true regardless of the original layout of the
sections? 

A. The sections will be reorganized in the order that they were created. 

B. The sections will be reorganized in the selected order with the exception of those sections where the Visible property
is left unchecked. 

C. The sections will be reorganized in the selected order from the bottom of the tab to the top of the tab regardless of
the original parameters. 

D. The sections will be reorganized in the selected order from the top of the tab to the bottom of the tab regardless of
the original parameters. 

Correct Answer: D 
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